No. Part Name Qty Material/ Type No. Part Name Qty Material/ Type No. Part Name Q'y Material/ Type
31 |Supporting Plate *3 |2 |SUS304,SS400+Epoxy Resin |28 [Terminal Block 1 |Phenol resin apPve
*¥1. 3, 14, 15 can produce titanium palladium 29 |Spring Box 1 |- OHT CJIS: Brown)
*2. Quantity of bolt and nut differ depending on size of valve. [30 Flectric Conduit Gland 11 1G1/2 1 |Body 1 |OCPVC CANSI-DIN: Gray)
*3. Only HT,PP,PVDF SECDF
W W1 W2 @ OEPDM
’/‘ . O
| 2 |Diaphragm W D}E@AHEPDM
E —® I OPTFE+PVDF+EPDM
— X
@/ i Cwop ragm Screw 1 igfim 1
a0 over
&—] - - | —Q) 5 |Face Plote 1_[A-P
6 |Cover Gasket 1 |CR
@\ T @—H— | 7 [Buse Plate 1 |Ac=3
7 D— e =] 8 |Bonnet 1 [AC—7
J 1 — - @ 9 |Hexagonal Bolt — [SUS304
= 8 7 HH; 10 |Hexagonal Nut — |SUS304
) 11 |Washer - |SUS304
16 12 |Spindle 1 [S45C
10 i 9 13 |Sleeve 1 |FC250
14 |Spring pin 1 |SUS304*1
®—\ /@ 15 |Compressor Nut 1 |C3604*1
\ ;@ 16 |Compressor 1 |GF-PP
—J 17 |Stud Bolt - |sus3o4
@\ ] 18 |Reversible Motor 1 |-
1 ,_//’ I - —+ 8|Lle 19 [Thermal Protector 1 |-
/_/ 20 |Indicator 1 |-
| 21 |Gear box 1 |-
J_’ ! 22 |Gear A 1 |s45C
- 23 |Gear B 1 1S45C
) ) = L 9}%‘& n—oh 24 |Open—close plug 1 |pP
Dimension TOb‘e Unit: mm 25 |Open—close stem 1 |SUS304
. Flange Ho|oh Actuator] 26 |Capacitor 1 |-
Size| A ed | L 0 ¢é‘swﬂ%h L MANHSLM et MD‘LM £ Mox. | Mox Wop W W2 e 27 |Micro Switch 2 |OMRON:V—156—1A5
O [15¢1/2) 16 | 110415195 | 70 |4-15] 14 | 90 |60.5]4-16] 11 | 95 | 65 |4-14 |14 | 313 | 266 | 112 | 93 | &5/ | ED-6 Client name Date
O 12003/4) 20 11204151100 75 |4-15] 14 1100 /70.0/4-16] 13 |105] /5 |4-14| 14 | 327 | 277 | 112 | 93 | 5/ | ED-6
O [25(1D 25 1304151251 90 [4-19] 14 [ 11017951416 14 [ 115 ] 85 |4-14| 14 | 347 | 285 | 112 | 93 | 57 | ED-6
O 1321-1/8)] 32 [ 142415135100 [4=19] 16 [ 117 [89.0[4—16]15.7] 140 [ 100 [4=18] 15 | 353 | 285 | 112 | 93 | 57 | ED-6 Flange Standard [OJIS10K OANSI ODIN|Approved by:
O [40C1+1/2)[ 41 [180£1.5[ 140105 [4-19] 16 [ 12/ [98.5[4=16] 1/ [150 [ 110 [4-18] 16 | 419 | 349 [ 132 [ 118 | 70 [ED-25| [Voltage OAC100V OAC200V
O 150(2) 52 12104151 1551120 |4-19] 20 | 155 120.5(4-20] 19 | 165]125]4-18] 18 | 465 | 587 | 132 | 118 | /0 |ED-25 O F OVES
O 165¢21/2) | 67 [2504£1.5 175140 [4-19] 22 [175139.5[4-20| 22 | 185|145 4-18| 18 | 522 | 435 | 132 | 118 | 70 |ED-25 L ree —
O 180(¢3) 80 | 280+£1.5]185 150 |8-19] 22 | 190 /152.5[4-20] 22 | 200|160 |8-18] 20 | 603 | 511 | 200 | 154 | 85 |ED-40 ESLON Electric D\ophrogm Valve KS*Type
D [100(4) [100 [ 3404152101175 8-19] 24 [ 2301190.5[8-201 24 [ 220180 [8-18] 20 | 667 | 562 | 200 | 154 | 85 [ED=60| |Flange Socket Type 15—150A
O 125(%) 125 | 4104£1.51250 [ 210 |8-23] 24 | 254 216.0/8-23| 24 12501210 |18-18| 22 | /20 | 595 | 200 | 154 | 84 |ED-90 :
O [750(6) 150 (48015 [ 280 | 240 (823 24 [ 280 04158231 25 | 2851 240 [8=22[ 27 | 741 | 601 | 200 | 154 | 84 [ED=00] [|Prowing No.  [DVKISTFFE
Note) Flange dimension is in accordance with the following standard; JIS B2220. ASME/ANSI B16.5-1981class150. DIN EN 10921 SEKISUI SEKISUI CHEMICAL CO.,LTD.

8-2023.09.01



No. Part Name QTY Material/ Type No. Part Name QTY Material/Type No. Part Name QTY Material/ Type
34 |Supporting Plate *3 2 |SUS304,5SS400+Epoxy Resin |31 |Terminal Block 1 |Phenal resin 1 |Body 1
*1.6,17,18can produce titanium palladium 32 |Spring Box 1 - 2 |Union nut 2 gw
*2. Quantity of bolt and nut differ depending on size of valve. [33 [Flectric Conduit Gland 11 1G1/2 3 |TS Socket 9
y 4 |0-Ring 2 |oFkw
OEPDM
/@ 5 |Diaphragm 1 OFKM
@\ OPTFE+EPDM
D @] = opragms T
iaphragm Screw
7 |Cover 1 |AC-4
BN 8 |Face Plate 1 |AL-P
16 9 |Cover Gasket 1 ICR
5 D 10 |Base Plate 1 |AC=3
.\ DN L ® 11 |Bonnet 1 |ac-7
11 ol 18 12 |Hexagonal Bolt — |SUS304
@ 13 |Hexagonal Nut — |SUS304
< M/ﬂ/ / 6 14 |Washer ~ [sUs304
- 15 |Spindle 1 [S45C
12 3 16 [Sleeve 1 |FC250
3 ! 5 17 [Spring pin 1 [SUS304*1
i 18 |Compressor Nut 1 |C3604*1
20 19 |Compressor 1 |GF-PP
W 20 |Stud Bolt - |SUS304
b ¥ 21 |Reversible Motor 1 |-
&_ﬂ M ‘ - ;; ‘Thdelrmto\ Protector 1 -
- _ 5 ndicator -
r % = - 7773 g % g 24 Geor box 1 -
— 25 [Gear A 1 |S45C
— ' - 26 |Gear B 1 [S45C
\ 27 |Open—close plug 1 |PP
39 @ @ @ 1/7 28 |Open—close stem 1 |SUS304
Q 29 |Capacitor 1T |-
. . L 30 [Micro Switch 2 |OMRON:V—156—-1A5
Dimension Table Unit: mm — cro e -~
TS Socket Actuat lent name ate
Size| A(® | #d 1S ASTM DN 8o | 9D MH Mh W wr e o
L JToedl[1I/T[e] [ TJedl|[1/T] ¢ L Tedl [1/T]8 ax. | Max. P |[Socket Standard|0JiS OASTM DDIN |Approved by:
a 151/2) 16 |144£3.0]1 22.3 [1/37 122 |137+£3.0121.54|1/72122.221126£3.0] 20.3 |1/65 16| 35 | 49 1290|266(112| 93 | 57 | ED-6 Voltage OAC100V OAC200V
O [20(3/4) 20 |17243.0] 26.3 | 1/472 125 |15843.0/26.87|1/85[25.40|14643.0 25.3 [1/80 19| 35 | 59 [ 3072771112193 | 57 | ED-6 :
O [25(1) 25 [187£3.0] 32.3 [1/43] 29 [1774£3.0[33.65]1/75(28.58165£3.0] 32.3 [1/95(22 | 44 | 67 [ 3181285 | 112 | 93 | 57 | ED-6 ||Cil Free OYES
O [32(1-1/4)| 32 121043.0| 38.4 [1/37]32 |1904£3.0]42.42]1/84 | 31.75|17943.0] 40.3 [1/115/ 26| 54 | 81 1326|285 112 93 | 57 | ED-6 ||ESLON Electric D\'ophrogm Valve KSnype
O 40011/ 41 126243.0] 48.5 |1/38| 35 |258+3.0148.56|1/78 |34.93(2474£35.0] 50.5 1/140| 31| 66 | 98 | 397 | 5491132118 | 70 | ED-25 Socket Tvoe 15—50A
O 150(2) 52 1298+3.01 60.7 | 1/34 | 38 1283+3.0160.6511/83 138.10(284+3.01 63.3 [1/1/5 381 77 [120 44713871132 1118 70 | ED-25 i yp
Note) Socket dimension is in accordance with the following standard; Drawing No. ‘DVKW55OSE
ASTM D2467 for ASTM and DIN80B3 for DIN SEKISUI SEKISUI CHEMICAL CO.,LTD|

8-2023.09.01



No. Part Name QTY Material/Type No. Part Name Q1Y Material/Type No. Part Name Q Material/ Type
34 |Supporting Plate *3 |2 |SUS304,55400+Epoxy Resin |31 |Terminal Block 1 |Phenol resin 1 [Body 1
*1.6,17,18 can produce titanium palladium 32 [Spring Box . 2 Union nut 2 B%F
*2. Quantity of bolt and nut differ depending on size of valve. {33 [Flectric Conduit Gland 11 161/2 3 |Thread Socket 2
*3. Oﬂ\y PVDF 4 |0-Ri OEPDM
ng 2 |oFK
W OEPDM
. 0
5 |Diaphragm 1 [RPTrEsepoN
@ DPTFE-+PVDF+EPDM
@\ 6 |Diaphragm Screw 1 [SUS304 *1
7 |Cover 1 |AC-4
HN 8 |Face Plate 1 [A=P
9 |Cover Gasket 1 |CR
10 (Base Plate 1 |AC-3
@\ 11 |Bonnet 1 [AC-7
12 |Hexagonal Bolt - |SUS304
@ 13 |Hexagonal Nut — |SUS304
-~ 14 |Washer - |SUS304
_ 15 [Spindle 1 [S45C
16 |Sleeve 1 |FC250
17 |Spring pin 1 |SUS304*1
18 |Compressor Nut 1 |C3604*1
19 |Compressor 1 |GF-PP
20 [Stud Bolt - [SUS304
21 |Reversible Motor 1 1=
—] — T 22 |Thermal Protector 1 1=
— 5 %N 23 |Indicator 1 |-
¥ ssif= 24 |Gear box 1T |-
(- . mcﬁ % 25 |Gear A 1 |S45C
L ‘ 26 |Gear B 1 1S45C
27 |Open—close plug 1 |PP
M 28 |Open—close stem 1 |SUS304
X 29 |Capacitor 1 |-
Dimension Table Unit: mm 30 [Micro Switch 2 |OMRON:V-156—1A5
JSRe ANSENPT DIN:Rp Fixing Insert | |Client name Dote
Size| AB) | 0d [ T ool 0 Lo locol L 1o logol ™l [ym | W wijw2 Aﬁjﬁior Nut
PVC PVDF | PVC PVDF : : Mxe | [Thread Standard|/ORc ONPT ORp Approved by:
O [15¢1/2) 16 [13543.0134435.0 118 | 20 | 30 | 13345.0 | 18 | 30 [13543.0 | 18 | 30 | 49 [290 | 266 112|195 | 57 | ED-6 | 25 | M6x12 Voltage OAC100V DAC200V
O [2003/4) 20 | 1574£3.0 | 156745.0 [ 18 | 22 | 55 [15745.0 [ 18 | 35 | 15/43.0 [ 18 | 35 | 89 | 307 [ 277 {1121 95 | 57 | ED-6 | 25 | Mbx12
O 125(1) 25 [17343.0 [18043.0 | 25 | 24 | 44 [17343.0 | 23 | 44 [17343.0| 25 | 44 [ 67 [ 3181285 (112193 | 57 | ED-6 | 25 | M6x12 | |Qil Free OYES
O |52 1/4) 32 |188+5.0 [ 19143.0 25| 25| 54 |18843.0 | 25 | 54 | 1884+3.0 | 25 | 54 | 81 |526|285 (112195 | 57 | ED-6 | 25 | M6x12 | [FSLON Electric D\'ophrogm Valve KSnype
O 4000 1/2)| 41 |24843.0125443.0( 25| 28 | 65 [ 24143.0( 25| 65 | 24143.0[ 25 | 65 | 98 | 397 | 349 [132|118] 70 | ED-25] 45 | M8x12 Thread Socket Tvoe 15-50A
0 [20(2) 92 1280+3.01290+3.0 | 50 | 30 | /7 [269+3.01 50 | /7 1 26943.0( 30 | 77 11201447387 113211181 /0 | ED-251 45 | MBx12 JP

Note) Thread dimension is in accordance with the following standard;
JIS:JIS B 0203,ANSI:ANSI B1.20.1 and DIN2501 PN10/PN16 (1SO7005 PN10) for DIN

Drawing No.

[DVK1550NE

SEKISul SEKISUI CHEMICAL CO.,LTD.

8-2023.09.01





